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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER- 1,2(NEW) EXAMINATION -SUMMER-2020

Subject Code: 3300005 Date: 29-10-2020
Subject Name: BASIC PHYSICS (GROUP-2)
Time:02:30 PM to 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.
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MCQ/Fill in the blanks (Attempt All Questions) 5
MCQ/"tleﬂ 6494 M2 ( GIHL 6F URA L SYAlol BlLYAL $31d) u

SI unit of Luminous Intensity is _

(a) Light Year (b) Calorie (c) Candela(d) None
oxdlld dladl <AL S 2541 £9.

(a)usinal (b) 34l (c) a1 (d) 2isve-ls.

1 electron = Coulomb

(a)3.6x106 (b)1.6x10°19 (c)1.6x1019 (d)None

Which type of impurity is added to make P-type semiconductor?
(a) Trivalent ( b Tetravalent ( ¢ ) Pentavalent (d ) None

N- UsIRel AAALGS GlAlAdL HI2 AL UsIRAl 2192824 GHRAMI 214 €97
(a)addd-e (bagdd-2 (c) U-2tdd-2 (d) 2su -lg
Magnetic susceptibility of Diamagnetic substances is

(a) positive (b)) Zero ( ¢ ) Negative (d ) None

3w Hodles ueld <l Yorsla uaulleildll SlU 8.

(a)fd (b) g~ (c)ka (d)dAsur -l

The intensity of light in constructive interference is

(a) Increases (b ) Decreases (¢ ) Zero (d ) None

UGS Adls@ Hiusia Al dladi i s,

(a)asuRl(b) a2l (c) aca(d) zisua <l

Answer the following questions.(Any 6 out of 9)

{131 waedledL sraioL sUL (¢ Higdl S5 uaL <) L2
2

Define: Ampere
L), quil. : ARYLUR
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Write Full Form Of : LASER, AEM, S.1, D.C

YRA M QUL : QAR 20520, , 2, LR

What is conductivity? Write its unit.

Qlsel 212d g 7 dell BisH Qvil,

Write Coulomb’s Law and write its formula.

geiot <Al [AaH vl 244 def 3 sroudl,

Draw symbol of NPN & PNP transistors & write name of each terminal.
NPN i PNP 2l-{l122 «{l 22l €iRl 21 €25 2[AAd Al UM 20l
Write two uses of micrometer screw gauge.

HI5IHL2R 25 AH6Y <L SISURL 6L GUALRL 6xRUAL

Write Snell’s law and its formula.

34 AL [AAH 2 de] Y @il

Value of Direct current is 0.4A and value of potential difference is 20V then
Find value of electrical power.

ol £l A dlomais fHen 0.4 A i dlosrelldmid « He1 20V €id dl d-dl Saszlse waR
<{l aB1az] 53U

State any four application of nano technology.

Al 25U i SITURL AR GUALL QUil,

Answer the following questions.(Any 4 out of 7) 12
{12l Uil oxaLel AL (9 HiEll SIS urL4) 12

Explain accuracy and precision with suitable examples

ALSALS Vi UAL2AL 110U GeeW AL A1l

Explain with circuit diagram Kirchhoff’s second law for electric circuit

(3225 Al oflorl (Aam 2104 [y wleua il Anamdl,

Explain P type semiconductors.

P 215U 18 ALSSL A1l

Differentiate between diamagnetic and ferromagnetic substances.
1AL HOA2Zls A YL HIAZLs Ueldl AR <l dglad <l HgLU Quil,

Explain dispersion of Light.

UsL o [AcUsr uHAAL

Write application of optical fiber.

2254 $1561R <l GuAlll quil,

Find out least count of a micrometer screw gauge which has 100
divisions on circular scale and 1 mm pitch.

HIS5IHI2R 25 56y (L Yl 1 mm - il dell Adousiz 25€ U= 100 (AsuL S14 dl d-l
QA HIY U5 L

Answer the following questions.( Any 3out of 5 ) 12
A1l Urellell sxaLol 2414 (Uil 516 e 3) =
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The velocity of light in water is 2.25 x 10% km/s. Find coefficient of

refraction of water. The velocity of light in air is 3 x 108 m/s.

YLR(l Hiusle Al 2.25x 105 km/s €.qA1 ULR(l Al AglHaAls QEl usia <Al

UM 9021 3 x 108 m/s dl

1000 turns of a coil has a resistance of 25 Q. Flux of 6 x 10 wb passing
through each turn of coil at any time and suddenly it reduces to 10*wb

in 0.1 second. Calculate emf and total charge passing through it.

25 O <Al 2UAR1Y HAAAL 215 IR <l 20U Hi 1000 2U2L B, 516 2A5 UHA AHI &L 6 x 10 wb <
Yoisly sas vis 2U2L Els UAIR AL B, ol i sas Visuls 62l 4.0.1 second Hi 10 wb

28 MY 8 dl 90U HI URd aAd [Agd Alas 6101 i 20 HIE) uAIR Adl $& [AgdeiR Lell.
Main scale of Vernier caliper is calibrated in mm. If 20 divisions of Vernier

scale are equal to 19 divisions of main scale, Find LC

- =~

QeiluR 5AuA Al Yo 3¢ H{l H] wisdlele Rl S,
[QcuoL sy24 € dl d-{l @ uie. 2kl

Two resistors R1=500+5 Q and Rz =200+ 3 Q are connected in series. Find
out maximum absolute error for equivalent resistance and show it in

percentage error.

6l 21ARAH, Ry =500 15 Q i Ry =200 + 3 Q < ARl Ui oA IRUHL 20D dl ALY AR Ui
23l HdH [ARUA 2] AL 21 AU 20AR18 4 WAgd 32 i zaldl

Three resistors 5 Q , 10 Q and 15 Q are connected in parallel with 20 V battery.
Calculate (1) equivalent resistance of the circuit (2) current passing through
each resistor (3) the total current of the circuit. Draw proper circuit diagram.
AR VAAL50Q, 10 Q 244 150 120 V <l 6123 12 AHIdR 67134 . dl (1) WRua -l
AU AR (2) €25 1ARAH HIA AL dloruals (3) WRua <l s dlomaus ikl

~

dell a¢ [AsoL 4 HIY, aTaR 234 i 20

Answer the following questions.(Any 3 out of 6) 15
{12l sl spaioL UL (Higl 51 uaL 3) i

Explain reverse bias characteristics of PN junction diode with circuit diagram.
PN junction diode «{l Rl st {1 clat@sdll [QAsy ulRya €idl uudl

Draw neat and clean labelled diagram of Micrometer Screw Gauge.
HIS5IH2R 25 ADew <l UH (€2 Aol 2s(d elel.

Explain full wave bridge rectifier with circuit diagram.

YEL a9l ofley 3525142 2104 [Aoy uRu ekl Uual

Write laws of refraction with proper diagram.

%4194, 2A15(d €131 agletad <l [Qaul qvil,

Write five characteristics of electric field lines.
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dloyaiz 2ol ) sidut win alaellsdiol dvil,
Derive equation for equivalent resistance of three resistors connected in
parallel. Also write any two advantages of the parallel connection.

0L VAR <Al AHIAR SAILOL HIZ Al AHGEL AR, | YA AIRAL AHSY AUHIAR 13101 <l
S1SURL 6 $lAL1AL SxRUAL

Answer the following questions.(Any 2 out of 4)
{12l UaAlAAL exaLeL UL (7 HiEll SIS uRLR)

Write seven applications of nanotechnology.

Al 24ldiov-l Ald GuAlRll Quil,

Explain three phases of production of LASER beam.
LASER beam Geusel 52aL HI2 «{l 3814 uttdl Auondl,
Explain Hysteresis Curve in detail.

Hysteresis as «{l 2wl Aeydl 21Ul

Explain working of NPN transistor with circuit diagram.
NPN transistor «ll siiausl [Aeruduy 212l uneal.
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